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QUESTION 1

What you can do in Huawei FusionCompute (multi-selection)

A. Convert virtual machines from other virtualization platforms into virtual machines available to FusionCompute
B. Cloning a virtual machine

C. create a virtual machine

D. delete the virtual machine

Correct Answer: BCD

QUESTION 2

The following description about the cluster, host and virtual machine in Huawei FusionCompute is incorrect

A. Determine whether the hosts belong to the same cluster depends on whether you use unified shared storage
B. A cluster is made up of multiple hosts and their associated storage and network resources

C. Virtual machines can be migrated across clusters

D. Hosts can be moved between different clusters

Correct Answer: C

QUESTION 3

The following scenarios that are not suitable for increasing the memory reuse ratio are

A. Memory reuse in commercial scenarios has reached 150%

B. Reduce customer hardware procurement costs

C. While ensuring performance, customers require a single host to deploy the maximum number of virtual machines
D. Virtual machine memory utilization is low

Correct Answer: A

QUESTION 4

Which of the following methods are generally supported by a physical switch for remote management (multiple
selection)

A. Telnet
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B. SSL
C. Web
D. SSH

Correct Answer: ACD

QUESTION 5

What is incorrect about the VIMS file system description below?

A. VIMS is compatible with FC SAN, IP SAN, local disk

B. VIMS is the technical foundation for advanced features such as thin disks, snapshots, and storage migration
C. VIMS is a high-performance cluster file system

D. VIMS is a universal storage virtualization file system

Correct Answer: D
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